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Paper - III
The test Boomerang run measures : 7.  Super-compensation in the initial stage
(A) Aglity of training process is more.
(B) Co-ordination (A) Temporary (B) Rigid
(C) Endurance (C) Fluctuating (D) Permanent
(D) Acceleration
8. A person is considered obese class II
The suitable test to measure power : when BMI ranges between :
(A) Cooper’s test (A) 18.50-44.99 (B) 25-29.99
(B) Donald test (C) 30.00-34.99 (D) 35.00-39.99
(C) Margarian test
(D) French Valley test 9. Cholesterol contents of an egg is
estimated to be :
Diamension of standard swimming pool (A) 150 mg (B) 250 mg
is : (C) 350mg (D) 450 mg
{A) 51 Mtrx31 Mty
(B) 25 Mtrx20 Mtr 10. A behaviour where opponent is
(C) 50 Mtrx30 Mtr Psychologically or physically harmed
(D) 50 Mtrx31 Mtr but the goal is to win is termed as :
(A) Hostile aggression
Which of the following pair is not (B) Assertive behaviour
correct ? (C) Violent behaviour
(A) Equipment used to measure units (D) Instrumental aggression
of work done by person-
Ergometer | 11. A force that results when two objects
(B) Grip strength-dynamo-meter dash with each other.
(C) Flexometer-Range of motion (A) Contact force
(D) Oxymeter-Pulse (B) Concurrent force
(C) Compressive force
The main objective of pilot study in (D) Concentric force
research is :
(A) Totest and improve researchplan. | 12. In which movement the angle
(B) To convince the supervisor. diminishes ?
(C) To attract funds for research. (A) Rotation
(D) Provide opportunity for the (B) Circumduction
scholar to get research experience. (C) Protraction
(D) Flexion
Expressing the degree of relationship
in terms of numerical value is called : 13. Carpal tunnel syndrome is the :
(A) Coefficient of correlation (A) Compression Radial nerve
(B) Kendall coefficient of concordance (B) Compression ulnar nerve
(C) Scatterogram (C) Muscurb cutaneous nerve
(D)} Correlation Matrix (D) Compression of median nerve

Paper-111
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14.

15.

16.

17.

In which fracture small fragments of
bones are detached at the sites of muscle
insertion ?

(A) Communicated fracture

(B) Segmental fracture

(C) Avulsion fracture

(D) Greenstick fracture

Identify JB Nash phases of Management/
Administration process :

(a) Budget

(b) Facilities to achieve objectives

(¢} Putting the principles into
operation

(d) Evaluation

Codes :

(A) (b), (c) and (d) are correct
(BY (a), (b) and (c¢) are correct
(C) (a), (b) and (&) are correct
(D) (a), (b), (c) and (d) are correct

Identify the types of organizations at
formal level.

(a) Directorate of Physical Education
(b) Association of Physical education
(c) Addidas company
(d) Superintendent

education

Codes :

(A) (a) and (b) are correct
(B) (b) and (¢) are correct
(C) (c) and (d) are correct
(D) (a) and (d) are correct

of Physical

The types of bulletins are :

(a) Suggestive

(b) Mandatory

{c) Portrait of elite sports person
(d) Personal '

Codes :

(A) (c} and (d) are correct

(B) (a), (b) and (c) are correct

(C) (a) and (c) are correct

(D) (a), (b) and (d) are correct

Paper-111

18.

19.

20.

21.

IV AR

Play theories are :

(a) Catharsis theory

(b) Attribution theory

(¢) Psycho - Analytic theory

(d) Individual zone of optional
Functioning.

Codes :

(A) (a) and (c) are correct

(B) (b) and (c) are correct

(C) (b) and (d) are correct

(D) (a) and (b) are correct

The criterion measures in simplicity of
a test are :

(a) Difficult to score

(b) Conservation of time

(¢) Cost
(d) Ease of understanding
Codes :

(A) (b), (¢) and (d) are correct
(B) (a), {c), and (d) are correct
(C) (a), (b) and (c) are correct
(D} (a) and (d) are correct

Classification index II of C.H. McChoy
for college men includes : .
(a) 6 (Height in Centimeters)
(b) 6 (Height in inches)

(¢c) Weight in pounds

(d) 20 (Age)

Codes :

(A) (a) and (c) are correct

(B) (b) and (c) are correct

(C) (a) and (d) are correct

(D) (c) and (d) are correct

The measures of variability are :
(a) Mean deviation
(b} decile deviation

(¢) Range

(d) Standard deviation
Codes :

(A) (a), (b) and (d) are correct

(B) (), (¢) and (d) are correct
(C) (a), (b) and (c) are correct
(D) (&), (¢} and (d) are correct
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22. In a study of smoking tobacco on human
health, the confounding variable that
can affect the experimental validity

are :
(a) Drinking alcohol
(b} Diet

(c) Lifestyle activities

(d) Control group

Codes :

(A} (a), (b) and (d) are correct
(B) (a), (b) and (c) are correct
(C) (a), (c) and (d) are correct
(D) (b}, (c) and (d) are correct

23. Find the correct combination of the
elements of Complex Reaction ability,

(a) Selection of correct response
(b) Technique

(¢) Mobility of Central Nervous
System (CNS)

(d) Anticipation

Codes :
A O, @), @ (BY (a), (b), (v
©) @, (D) (o), (d)

24. Sequentially arrange the steps for
practicing straight hit in hockey by the
beginners :

(a) Roll the ball and hit

(b) Dribble the ball and hit

(¢) Hitting without ball (imaginary
ball}

(d) Dribble, roll and hit

(e¢) Hitting on stationary ball

Codes :

(A) (&), (c), (b}, (a), (d)

(B) (b), (a), (@), (d), (&)

(©) (o), (&), (b), (), (&)

(D) (e}, (a), (b), (), (0)

Paper-II1

25.

26.

27.

Find the correct option of the causes of
Malnutrition Worldwide using codes
given below :

(a}) Natural disasters

(b) Population growth

(c) Equitable food distribution
(d) Communicable diseases
(e) Political Sanctions

# War

Codes :

A) (o), (@), (e), O

(B) (a), (b), (e), (B

(C) (a), ®), ), D

(D) (b)), (c), (d), (e}

Evaluation of curriculum should
include :

(a) Student’s progress

(b) Teacher’s ability

(¢} Administrative support
(d) Programme efficiency
Codes :

(A) (a), (b), (D)
(€ (), (©, (@)

(B) (a), (), (©)
D) (o), @), (a)

To assess personality by Projective
Technique, which of the following are
used :

(a) Word association and sentence
completion

(b) Check lists and rating scale
(¢) Observation
(d) The thematic apperception test

Codes :

A @, o (BY (©, @

(€) (@), @ (D)} (b), (0)
C-17-17
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29,

30.

31.

Identify the Greek philosophers.
(a) J. Barnes

(b) Aristotle

(c) Friedrich Nietzshe

(d) Plato

Codes :

(A) (b), (c) and (d) are correct
(B) (b), (a) and (c) are correct
(C) (a) and (b) are correct

(D) (b) and (d) are correct

The external factors of aerodynamics in
discus throw are :

(a) Hydrodynamics

(b) Wind resistance

(¢) Gyration

{d) Human Limitation
Codes :

(A) (a), (c) and (d) are correct
(B} (b) and (a) are correct
(C) (b), (¢) and (d) are correct
(D) (a) and (d) are correct

The origin of tricep brachii muscle is :
(a) Infraglenoid tubercle of scapula
(b) Olecranon process of ulna

{c) Radial sulcus (above)

(d) Radial sulcus (below)

Codes :

(A} (a), (b} and (c) are correct

(B) (a), (b} and (d) are correct

(C) (a), {c) and (d) are correct

(D) (b), {c) and (d) are correct

Which among the following are
mechanically produced lesions :

(a) Blisters (b) Callus
(¢) Sunburn (d) Frost bite
Codes :

(A) (a) and (d) are correct
(B) (b) and (d) are correct
(C) (a) and (b) are correct
(D) (c) and (d) are correct

Paper-II1

32.

33.

34.

35.

N TR A B

Arrange the following information
processing stages in correct sequential
order.

(a) Output

(b) Input

(c) Feedback

(d) Decision making

Codes :

(A) (a), ), (o), (@)

B) (o), (a), (d), (b)

(C) (b)), (), (), (©

(D} (d), (@, (), (2)

The aim of systemic circulation is :

(a) Supply of O, and nutrients for all
parts of the body

(b) Purification of blood

(¢ Removal of CO, and waste
products from the body

(d) Removal of uric acid from the
blood

Codes :

(A) (a) and (b) are correct

(B) (a) and (d) are correct

(C) (a) and (c) are correct

(D) (c¢) and (d) are correct

Find the sequence in using a command.
(A) command, pause, verb and caution.
(B) caution, command, pause and verb.
(C) verb, command, pause and caution.
(D) pause, command, caution and verb.

Arrange phases involved in sequence in
Burpee exercise.

(a) Floor dip

(b) Jump and arch in the air
(¢) Full squat

(d) Land on the ground
Codes :

(A) (a), (b), (c), (D

(B) (@), (a), (b), (©

©C) (@), (), (b}, ()

D) ®), (d), (a), (©
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36.

37.

38.

39.

Put the following stages in a sequential
order to indicate how a group becomes
a team:

(@) Norming ®)
(c) Storming
Codes :

&) ), (), (a), (d)
(B) (a), ), b), ©
©) (9, (@), ), (b)
D) (@), (), (©), (a)

Forming
(d) Performing

Arrange the following learning stages
in sequential order :
(a) Associative stage
(b) Autonomic stage
(c) Cognitive stage
(d} Elementary stage
Codes :

A (a), M), (@, (d

B) ©, ), (@), (M)

(€©) (), (), (d), ()

D @, @, ®©

Arrange in descending order of
carbohydrate content using codes given
below :

(a) Sugar (b) dJaggery
(c) Potato (d) Rice
Codes :

(A4) (), (b), (©), (@)
B (@, ®), (), (©
€ (), (0, (a), (@)
(D) (a), (@), (d), (b)

Find the right sequence of execution of

toe touch in Kabaddi.

(A) Stance, Approach, Touching the
opponent, Follow through action.

(B) Approach, Stance, Touching the
opponent, Follow through action.

(C) Stance, Touching the opponent,
Stance, Follow through action

(D) Stance, Touching the opponent,
Approach, Follow through action.
nger-III

40.

41.

42.

Find the correct sequence of
participating enzymes in the digestion
of food is :

(A) Ptyalin, Pepsin, Amilase, Lipase
(B) Ptyalin, Amilase, Lipase, Pepsin
(C) Pepsin, Ptyalin, Amilase, Lipase
(D) Pepsin, Ptyalin, Lipase, Amilase
Assertion (A) :

Subject characteristic is one of the
threat to internal validity of an
experiment.

Reason (R) :

Hawthorne effect of light on treatment
group may also be a threat to External
Validity of an Experiment.

Codes :

(A) (A) is right (R) is wrong.
(B) Both (A) and (R) are wrong.
(C) Both (A) and (R) are right
(D) (A) is wrong (R) is right.

Assertion (A) :

In the III*? phase of preparatory period
training volume is increased whereas
training intensity is decreased sharply.

Reason (R) :
The aim of training in this phase is to

prepare the athlete for the competition
period.

Codes :

(A) Both (A) and (R) are true and (R)
is the correct eJ_cplanation of (A).

(B) Both (A) and (R) are true, but (R)
18 not the correct explanation of
(A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

C-17-17




43.

44.

Assertion (A) :

The training camps at high altitude in
the transitional period can be of
immence value.

Reason (R):

Because in this period the intensive
workouts are strictly avoided.

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R)
18 not the correct explanation of
(A).

(C) (A) is true, but (R) is false.
(D) (A) is false, but (R) is true.
Assertiop (A) :

Researches have revealed that the
talent identification cannot be possible
merely on the basis of Sports Sciences.

Reason (R) :

Sports Sciences have limited approach
and able to judge specific elements
rather than the total performance.

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R)
is not the correct explanation of

(A).
(C) (A) is true, but (R} is false.
(D) (A) is false, but (R) is true.

Paper-I11

45.

46.

GGGV

Assertion (A) :

The recreation activity selected and
classified should meet the basic and
fundamental satisfactions of
participants according to their age and
gender.

Reason (R) :

Uniform recreation programme cannot
provide enjoyment and pleasure to the
participants of various age and sex.

Codes :

(A) Both (A) and (R) are true and (R)
1s the correct explanation of (A).

(B) Both (A) and (R) are true, but (R)
is not the correct explanation of

(A).
(C) (A) is true, but (R} is false.
(D) (A) 1s false, but (R) is true.

Assertion (A) :

Play is not Just a leisure time pursuit
it is a Socializing force and Agent
through which problems are solved
through active participation.

Reason (R) :

The knowledge of sports sociclogy helps
in understanding the Social problems
and Challanges.

Codes :

(A) (A) is right (R) is wrong
(B) (R) is right (A) is wrong
(C) Both (A) and (R) are false
(D) Both (A) and (R) are right

C-17-17
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47.

48.

Assertion (A) :

Before entering the bloodstream Fat -
soluble Vitamins first travel in the
lymphatic system and then stored in the
liver and adipose tissue.

Reason (R) :

Most water-soluble Vitamins are
readily excreted and stored in limited
quantities.

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R)
is not the correct explanation of
A).

(C) (A) is true, but (R) 1s false.
(D) (A) is false, but (R) is true.

Assertion (A) :

Physical Education teachers should give
detailed explanation of the skill to be
taught in the beginning.

Reason (R) :

The students learn most effectively
when they have a clear general idea of
the skill and main technical aspects
involved in the skills.

Codes :
(A) (A) is false, but (R) is true.
(B} (A) is true, but (R) is false.

(C) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(D) Both (A) and (R) are true, but (R)
is not the correct explanation of
(A).
Paper-III

49.

50.

Assertion (A) :

The effective teaching is best evaluated
by observation of students involvement
in physical activities and their level of
achievement.

Reason (R) :

The teachers generally increase the
amount of active learning time to
increase the effectiveness of
programme.

Codes :

(A) (A) is false, but (R) is true.

(B) (A) is true, but (R) is false.

(C) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(D) Both (A) and (R) are true, but (R)
is not the correct explanation of

(A).

Assertion (A) :

State of anxiety is an immediate
emotional experience that is
characterised by apprehension fear and
tension.

Reason (R) :

A acquired behavior that predisposes an
individual to perceive a wide range of
objectively non-dangerous circumstances
as threatening and response with
disproportionate intensity.

Codes :
(A) (A) is false, but (R) is true.
(B) (A) is true, but (R) is false.

(C) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(D) Both (A) and (R) are true, but (R)
is not the correct explanation of

(A).
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51.

52.

Given below are two statements one
labelled as Assertion (A) and the othey
as the Reason (R).

Assertion (A) :

A Ski Jumper while landing crounches
down to ensure proper landing.

Reason (R) :
Broader base is essential to obtain

balance, as broader base makes the
centre of gravity line to fall in base.

Codes ;

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true, and (R)
is not the correct explanation of
(A).

(C) (A) is true, but (R) 1s false.

(D) (A) is false, but (R) is true.

Given below are two statements one
labelled as Assertion (A) and the other
as the Reason (R).

Assertion (A) :

More Capillaries in a muscle indicates
better oxygen diffusion for sustained
energy release.

Reason (R) :

Long distance runners experience
angiogenesis leading to better oxygen
diffusion during the physical activity.

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true, and (R)
is not the correct explanation of
(A).

(C) (A) is true, but (R) 1s false.

(D} (A) is false, but (R) is true.

Paper-1I1
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A O

Given below are two statements one
labelled as Assertion (A) and the other
as the Reason (R).
Assertion (A) :
Macronutrients are not essential for the
Health of the sportsperson.
Reason (R) :
Eating plenty of fruits by sports persons
make them to equip better antioxidant
capacity.
Codes :
(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).
(B) Both (A) and (R) are true, and (R)
is not the correct explanation of
(A).
(C) (A) is true, but (R) is false.
(D) (A) 1s false, but (R) is true.
Match the following :
(a) Skinner (1) Instinct theory
(b) Albert (i) Operant learning
Bandura theory
(¢} Sigmund (111) Social learning
Freud theory
(d) Charles (1v) Psycho analysis
Darvin theory
Codes :
(a) (b) (o) (d)
A O () (1) 3Gv)
By i) (v) (1 (31
(C) @) @i) @) @
Dy (v) (1) () @iy
C-17-17
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55.
()
(b)
(c)

@

56.
(a)

(b)
(c)

(d)

Match the following :

Planning (1) Building Teams
Organising (i) Monitoring
Leading (iii) When, where and

how

Controlling (iv) Goal setting

Codes :

(a) (b) (0 (d)
(4) () v) G @
B ) G @ )
© O @) av) (@u)
@O G G @ )

Match the following :

Fedrick R. and (i) Pulse-ratio-
Rogeres test
David Brace (11) Aerobics
Waid tuttle (iii) Physical
fitness test

Kenneth Cooper (iv) Motar ability
Codes :

(@ (b)) (© )
Ay @) @) (v @
(B) () Gv) @ W)
© @ @ v 3y
D) @) @ @ G

Paper-III

57.

(a)

(b

(©

(d

58.
(a)

)
()

(d)

11

Match the following :
List -1
Nominal Scale (i)

(ii)

Ordinal scale

(ii1)

Interval scale

(iv)

Ratio scale

Codes :

(a) (b) (o)
(A v) (i) @i
(B) (1 (i) Gv)
(C) (i) @) @v)
(D) @iy vy @)

Match the following :

Scanning (i)
Skimming (11)
Critical (ii1)
reading
Note-taking (iv)
Codes :

(a) (b) (o)
A) @ @G G
B) () @) Gv)
Gy () @ O
(D) Gv)y (i) (W)

List - II
Have an absolute
or true zero of
Measurement.
Are adjusted in
terms of sum
rules that have
been established
as a basis for
making the units
equal.

A system of
assigning
number symbols
to events in order
to label them.
Lowest level of
ordered scale
commonly used.

(d)
@
@
@
®

Examine closely
or Quickly as
information
Process of
superficial
reading
Finding deep
understanding of
source

Writing
copiously about
the source read

(d)
(iv)
@)
(iv)
®
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59. Match the following : 61. Match the following :
(a) Dhyanchand cup (i) Cricket (a) Mean ® Xg—-Xp+1

(b) B.C. ROY Trophy (]_1) Table Tennis (b) Median (11) E

{¢) Duleep trophy (iii} Hockey N
(d) Jayalakshmi cup (iv) National n+ 1)
Junior Foot- (c) Standard (iii) ( J term
ball o
deviation

Codes :

@ ) (@ @ @ Range () }mx-i‘c)‘*
-

A Gi) G @ (v

® Gi) v @ G Codes :

© @ @ @ @ () © (@
DR @ ) (v Gi) 6

SO () ® G Gi) @ ©
(G @) @Gv) (1) @)
60. Match the following : D) @) Gi)y G Gv)
(a) Fartlek training (i) R.E. Moragan
and 62. Match the following :
G.T. Adomson _ i
(a) Dribbling with (i) Adaptation
(b) Circuit training (i) Sweden two balls
(¢) Interval training (iii) Loading of (b) Change in (i) Coupling
skeletal and shape and size
muscular {¢) Change of (i1i) Orientation
system _ partner
(d) Weight training (iv) Woldemar (d) Receiving (iv) Differentiation
Gerschler without
Codes : looking
Codes :

(a) (b) (o) (d)

. (@ (b) (c) (d)
Ay G @ 3@v @G

A @ @) (i) (@Gv)

B @ a @ @ ® Gi) () D) G
© G Gv) Gi) 6 © (v G @ @
® O @ G @) @ G v O i)
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63. Match the following : _ 65. Match List - I with List - II and select
th t option f the codes gi
(a) Slight redish skin (i) Very high beioi::frec oplion from the codes given
fatigue List - T List - IT
(b) Beginnig of errors (ii) very high load (a) Coagulation of (i) Vitamin B,
_ , blood
(c) iud.den gw}:&atxng (11) Low fatigue () Assisting in Gi) Vitamin K
uring nignt synthesis of
(d) Staggering (iv) High fatigue steroids and
glycogen
Codes : (¢) Formation of (iii)) Vitamin D
@ O (o) (d) retinal pigment
(d) Mineralizing bone (iv} Vitamin A
A) Gv) @) @) (i) Codes :
B) Gi) (v) G) () @ (b)) () (@
e e . (A (i) @v) @) @)
© @ @ @ B) () @) Gi) Gv)
M)y @ () i) @v) (C) Gv) @) (i) @
D)y Gy @ (v (@i
64. Match List - T with List - IT and select | 66. Match the following :
the correct option using the codes given |. (a) Indoctrination (i) Methods of
below : attaining of
. . curriculum
List -1 e (b) Monitoring (i) Providing to
(a) Phrynoderma (1) Thiamine 1nstructional all students
. _ ] relevancy access to a
(b) Pellagra (1) Riboflavin wide range of
(¢) Wernick’s (iii) Essential fatty klzl;])lwledge
encephalopathy acids SX1ls an
values
(d) Angular (iv) Niacin () Curricular (iit) Higher level of
stomatitis modalities teaching
Codes : (d) Inclusivity (iv) Observing
) appropriateness
@ ((b) () (@ of teaching
.. ceen e . Codes :
(A) () Gy Gv) @) @ ) (© (@
B) Gv) &) Gi) (ii) (A) @ @) @i (@Gv)
cien e . .. B) @) vy @) G
(€ G Gv) @ Gi) © ) Gi) Gv) @)
D) G (i) @) (v D Gv) @ () (i)
Paper-II1 13 C-17-17




67. Match the following :

(a) Class-1-2 (i) Individual
differences
distinct and clear

() Class-3-4 (1) Slow reaction
time and poor
coordination

(¢) Class-5-6 (iii) Period of rapid
growth and
development

(d) Class-7-38 (iv) Muscular
strength does not
keep pace with
growth

Codes :

(a) (b) (@ (d)
(A G @ 3Gv) (i)
B) @ @) 3Gh v
(C) () vy G @
D) Gvy () @ @

68. Match the following :

(a) Leadership’ (i) POMS
(b) Personality (i) SCAT
(¢) Group cohesion (iii) LSS
(d) Anxiety (iv) GEQ
Codes :

(a) (b} (c) (d)
A) @ @) @) aGv)
®) Gi) @ v G
(Cy Gv) G )y @)
(D) (i) Gv) @ @b

Paper-111
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70.
(a)

(b)

©

(d)

A

69. Match the following :

(a) Power

(by Work

(¢) Aerodynamics
(d) Velocity of the

ball thrown at
the heighest

point
Codes :

(a) (b)) (o)
@ @ @O v
(B) (i) Qi) v)
() (@v) @ (ui)
(D) () ) 3

Match the following

() PxE

E

(i) Zero

(11)

(iv) Spin

(d)
(iii)
®
()
)

Angular movement (i) Throwing,

is a product of pulling,
pushing and
striking
Continuity of (11) Ithas
motion momentum
Surface contact (ii)) Angular
while applying inertia and
forces to Angular
external objects velocity
Once a body has  (iv) Back rolling
been put in and pole
motion vaulting
Codes :
(a) (b) (c) (@)
Ay G @) v @
(B) (i) vy @ i)
(© Gi) @) (v @
(D) Gv) @ (@) @)
C-17-17



S ENATAR AN A

71.
(a)

Match the following .

narcofic analgesics (1) Calmness.

(b) anabolic steroids (i) Analoges of
testosterone
(¢} beta blockers (it1} To treat
g hypertension,
Anxiety
(d) Sedatives (iv) Increased
pain threshold
(v) Alertness
Codes :
(@ (b) (¢ (d)
(A) @v) (i) G Q)
(B) @(v) (i) 3w @)
€ @ @Gy av) (i)
D) @u) 3G v @

Read the passage and answer the
questions 72 - 75 ;

In ancient Greece, Hippocrates
designated two fundamental physical types.
Later Rostan, Renolds and Kretchmer have
developed various body types. Sheldon,
Stevens and Tucker has introduced the
concept of somatotyping with the three major
components endomorphy, mesomorphy and
Ectomorphy. Endomorphy refers to the
reélative fatness and leanness. It is
characterized by a predominance of soft
roundness of various regions. Mesomorphy
refers to relative musculoskeletal
development and characterized by a
dominance of muscle, bone and connective
tissue. Ectomorphy refers to the relative
linearity and characterized by a frail, delicate
body structure. Sheldon and his colleagues
developed a 7 point continuum to describe the
presence of each component in each
individual physique. The somatotype is given
in a three number sequence. The
endomorphic is given first, followed by
mesomorphy and Ectomorphy. Sheldon

Paper-IIT
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found the most common male som.atotype to
be ratings in the middle of each component
scalei.e. 3-4-4, 4-4-3 and also found in an other
study that women were more endomorphic
and less mesomorphic with 5-3-3 as the most
common female somatotype. The process of
somatotyping according to Sheldon’s method
1s quite complex and although it has been
used extensively in research.

72.  Soft roundness of various regions of the
body is the characteristic of :
(A) Ectomorphy
(B} Mesomorphy
(C) Pyknic
(D) Endomorphy
73. The body with linearity characterized by
frail and delicate structure is called :
(A) Dyblastic
(B) Mesomorphy
(C) Endomorphy
(D) Ectomorphy
74. The scale developed for women to
indicate the component is :
(A) 3-4-4 (B) 4-4-3
(C) 5-3-3 ) 1-1-7
75. Who has introduced the concept of
somatotype ?
(A) Hippocrates (B) Stevens
(C) Rostan (D) Kretchmer
-000-
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